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WOMEN’S STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. All questions are compulsory.

1. Which of the following statements is
correct about Women’s Studies as an
academic discipline ?

(A) It studies the social reality from
feminist perspective, placing
women’s experiences at the
centre.

(B) It accepts the existing theories
for analysis.

(C) It covers all studies conducted
on women’s issues and their
solutions.

(D) It applies existing social
science research methodology
for further research.

2.  Among the following  which
statement is not associated with
‘Androcentrism’ ?

(A) Male Behaviour and Characteristics
are Central and are the norm.

(B) Competitiveness and
aggressiveness are highly valued.

(C) Characteristics associated with
men and women are valued.

(D) Characteristics associated with
men and maleness are valued.

3. Women’s work was recognised as
being as essential as men’s work for
which kind of society ?

(A) Tribal society (B) Rural society

(C) Urban society (D) Modern society

4. What is correct about ‘Personal laws’ ?
(i)  Family laws are the personal laws.
(i) These laws differ from person

to person according to his/her
religion.

(ili) These are related with the
maternity  benefits to the
working women.

(iv) These are related with
devolution and disposition of
family property, maintenance
and succession and inheritance.

Codes :

(A) (i), (i), (i), (iv)

(B) (i), (ii) and (iv) only

(C) (i), (ii1) and (iv) only

(D) (i), (ii) and (iii) only
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5.

Assertion (A) : Most of the women
ageing is associated with role
change and the probability of
coping with loss.

Reason (R) : Women tend to outlive
men in all countries and age
groups.

(A) Both (A) and (R) are false.

(B) (A)istrue, (R) is false.

(C) Both (A) and (R) are true.

(D) (A) is false, (R) is true.

The term ‘Bigamy’ refers to the

crime of having

(i)  Two wives at the same time.

(i) Two husbands at the same
time.

(ili) Two wives or two husbands at
the same time.

(iv) Two marriages in the life time.

(A) (i) and (ii) are correct.

(B) (iii) is only correct.

(C) (iv) is only correct.

(D) (iii) and (iv) are correct.

The acronym ‘UNESCOQO’ stands for

(A) United Nations Educational,
Scientific and Cultural
Organization.

(B) United Nations Employment,
Social and Cultural Organization.

(C) United Nations Educational,
Social and Coalition Organization.

(D) United Nations Educational,
Social and Cultural Organization.

Which of the following is the funding
agency for conducting research in
social sciences ?

(A) ICAR (B) ICSSR
(C) CSIR (D) ICMR
J-74-13
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FATE |
2. g@rﬁqmw ‘TR’
@wﬁﬁ%ﬁ'?

(C) U @ weemsli ¥ wErud
TorIoaTatt st e fodl ST & |
(D) Tod ¥ TEfud fovivars oiR
TEHIAT i Tewd {31 S & |
3. % AT o Afeetet % w1 & 3 &
e wFr S & o R qee &
e F ?
(A) ST @a=T (B)  TTHOT GEST
(C) TRETES (D) 3TYHF FHNT
4.  afeEsd A FIRH T T ?
(i) ReTRes HA Safes T € |
(i) I8 FH A % g9 & AR
e MR T
(iii) T8 HHHS AieeTaT Hl Her aret
Tt wrgferret ¥ Tt € |
(iv) € TIRANE T, TEEE
STRIMFR 3R Taaa o faawor 37
PR & SFROT § Traferd & |

(A) (1), (i), (iii), (iv)

(B) & (i), (ii) 3R (iv)

(C) fa (ii), (iii) 3 (iv)

(D) fa (i), (ii) 31 (iii)
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(A) FREE ~ WHAE TR,
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(C) FEeE WFE USHIHe], TR
TUE HISATATH ST

(D) FAEEE AT USHIHC, Tt
TUE SFoekel MRS

e i M )| - BT

freffad & 9 wiem wedr (Fie

TSI i G E ?

(A) STEHTR,

(B) M. UETHIN,

(C) ¥rud.3TE 3R,

(D) SMEHETHIN,
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9.  Which is correct about action
research ?

(i) It aims at dealing with real
world problem at work and in
organisations.

(if)  Itis change oriented.

(iii) It is more of a theoretical
nature.

(iv) Itinvolves a feed back loop for
the purpose of change.

Codes :

(A) (i) and (iii) only

(B) (i), (ii) and (iv) only

(C) (i), (iii) and (iv) only

(D) (i), (i), (iii) and (iv)

10. “The incorporation of women into
commercial agriculture does not
necessarily make them socially
visible”.

Who among the following said this ?

(A) Betty Friedan (B) Vandana Shiva

(C) Agarwal (D) Baumann

11. Chronologically arrange the
following policy initiatives by the
Government for women.

(i)  National Commission on Self-
employed Women.

(i) National Commission  for
Women.

(ili) The Committee on the Status of
Women in India.

(iv) National Policy on Education.

Codes :

(A) (i), (iv), (i), (i)

(B) (i), (i), (ii), (iv)

(C) (1), (i), (i), (iv)

(D) (i), (i), (i), (iii)

12.  While selecting sample, if every
element has the chance to be
selected, it is known as
(A) Cluster sample
(B) Random sample
(C) Systematic sample
(D) Convenience sample

13. In which type of research design,
hypothesis is not required ?
(A) Experimental (B) Descriptive
(C) Diagnostic (D) Exploratory
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14.

15.

16.

17.

18.

Mark out the incorrect answer about

survey method :

(A) It is useful for the study of
large population.

(B) It can be conducted from
remote locations.

(C) Itisrelatively expensive.

(D) Itisinvariably context blind.

Chronologically arrange the Liberal
Feminist Thinkers according to their
period of contribution :

(@) Betty Friedam

(b) John Stuvart Mill

(c) Harriet Taylor

(d) Mary Wollstone craft

Codes :

(A)  (c), (d), (a), (b)

(B) (d), (b), (c). (a)

(C) (d), (a), (b), (c)

(D) (d), (c), (a), (b)

Which school of Feminist questioned
the concept of ‘natural order’ or
biological status quo ?

(A) Liberal Feminist

(B) Socialist Feminist

(C) Marxist Feminist

(D) Radical Feminist

Write the sequence of important

Women’s Bills in our country.

1.  The Protection from Domestic
Violence Act.

2. The Sarada Act

3.  The Uniform Civil Code

4.  The Hindu Code Bill

Codes :

(A 4,321 B) 3,2,4,1

C) 1,2,3,4 (D) 2,3,4,1

Assertion (A) : Women and men in
technological profession differ
not in ability but in attitudes
and Socialization.

Reason (R) : Boys and Girls are
socialized to different patterns.

Codes :

(A) (A)istrue, (R) is false.

(B) Both (A) and (R) are true and (R)
is the correct explanation for (A).

(C) Both (A) and (R) are false.

(D) (A) is false, but (R) is true.
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10.

11.

12.

13.

fohaTcres 9y & o) § T&l F a1 ¢ ?

(i) I8 el § 3R $¥ W ardfas
favdi gu@mst ¥ Maed &t o
FATE |

(i) ¥ gRed SSgEt & |

(iii) g‘gwmm T~k Ui et

|

(iv) I§ IRacH % e & WAg (@
W) § TrEfud ¥ |

T

(A) Ta (i) @i (iii)

(B) & (i), (ii) 3R (iv)

©) fﬂfh‘(ii), (iii)aiﬁ'((iv)

(D) (i), (ii), (iii) 2R (iv)

‘I U H AEeTs H FHEYH

I AEEa; QM €0 F 99 @l

AT & 17 e feha e ¢ 9

(A) &2 i (B) T Tt

(C) omam (D) smA

WHR R Afeestt & fow F=fataa
T TRt AT FA B HIAHHS T
H Faredd

(i) T @IS Afget ST

(i) T Ager TR

(iii) R Afeen wfefa wfbfa

(iv) g fever ittt

(A)  (iii), (iv), (i), (ii)

(B) (i), (i), (ii), (iv)

(C) (), (iii), (ii), (iv)

(D) (iv), (i), (ii), (iii)

Tiaeel (@Uel) W 9IS T, 3
Y% eI Hl TSI B T AT
THeTan €, i 98 =1 el € 2

(A) T Hiage

(B) arcfeeh wiaeer

(C) oHared ufasst

(D) gfer nfaget

T TR o Iy fesired W, URehedT &l
METAHAT =&l Bielt & ?
(A) TETHS

(C) =i

(B) faaromens
(D) SFAYUTCHS
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14.

15.

16. f&g

17.

18.

aﬁmq@ﬁr%a&ﬁwwﬁlﬁﬂﬁ

(A) a%’a:%wﬁz%%ﬁﬂﬁ%l
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THATE |
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(D) gzr TRaR w7 ¥ ded-ew g
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)
(b) =

(c) meew
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B
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AT STgeh FAETT Sl STTIROM T UL
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(A) ST ARETE
(B) -H‘-IIWIOIIGI '-||<|0||§|
(C) TRfamR! AREmR!
(D) ¥ AREmT
TR 30 | Afgemen o wﬁaﬁ HeaqoT
fererrent =1 21

C
d
d
d

T
R (R) aﬁaﬁtmf\aﬁmﬁmm
gT qiqaET (Ge) | HHTSTRd k)
|
(At R st
(A) (A)TIE (R) 3T E |
(B) (A)W(R)%W%@T(R) A)

(C) (A)aﬁr(R)ﬁm%|
(D) (A) WA ET AR (R)TAT |
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19.

20.

21.

Match the List-1 with List-1I as given
below :

List— 1 List—11
(Five Year (lIssues for Women)
Plan)
(@ The (i) Empowerment
Eighth of Women
Plan

(b) The (ii) Shift from

Ninth “development” to
Plan “Empowerment”

(c) The (iii) Gender equality
Tenth goals
Plan

(d) The (iv) Use of gender
Eleventh budget and gender
Plan mainstreaming

process

Codes :
@ (b () (d

(A) (i) (1) (i) (iv)

(B) (iv) (i) (iii) (i)
(C) (i) (1) (i) (iv)
(D) (iv) (i) (i) (i)

Assertion (A) : Men have continued
to receive  Social and
Institutional support for their
violent abusive behaviour.

Reason (R) : Statutory agencies such
as criminal justice and social
services have been slow to
respond to violence against
women.

(A) Both (A) and (R) are false.

(B) Both (A) and (R) are true and
(R) is not the correct
explanation for (A).

(C) Both (A) and (R) are true, (R) is
the correct explanation for (A).

(D) Both (A) and (R) are false and
(R) is the correct explanation
for (A).

The collective effort to change power
relations at all levels from the
interpersonal to the international is
known as

(A) Imperialism (B) Feminism
(C) Activism (D) Liberalism

Paper-I1

22.

23.

24,

Write the sequence of legislations for
working women

1.  The Maternity Benefit Act

2.  The Equal Remuneration Act.

3. The Domestic Workers
(Registration, Social Security
and Welfare) Act

4.  Supreme Court order regarding
Sexual Harassment of Women

at work place and other
Institutions
Codes :
(A) 1,3,2,4 (B) 1,2,4,3
(C) 2,3,4,1 (D) 3,2,1,4

How does religion affect the life of

women ?

(i) It reinforces the legitimization
of the division of labour,
privileges and rewards of the
society.

(i) It may provide standards of
values to the society.

(iii) It is related to the growth and
maturation of the individual.

(iv) It contributes to the stability
and sometimes destability of
order.

Codes :

(A) (@), (i), (iii), (iv)

(B) (i), (i), (iii) only

(C) (i) and (iv) only

(D) (ii) and (iii) only

Assertion (A) : Social movements
and organizations are the most

powerful agents of social
change.
Reason (R) Organizations and

movements do not allow the
transmission of information
and material resources across
generation.

Codes :

(A) Both (A) and (R) are true, (R)
is the correct explanation for (A).

(B) Both (A) and (R) are true, (R)
is not the correct explanation
for (A).

(C) Both (A) and (R) are false.

(D) (A)istrue and (R) is false.
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19.  ge-1 =l gEi-11 & |rer gaferd 1

Tt - | =t - 1
(Gt (Rfeemai & 1)
BIEE))
(@) emedt (i) wieemstiw
pISCH TSRS
(b) =it (i) “faw” @
pISCH “gRIfeRTRIOT T
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(c) Tt (iii) STSX FHaT
pISCH =)
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PISE 3R SieT 7=
TISHYOT TTshaT
—

(=N

@ () () (@
(A) (i) (@) (i) (iv)
(B) (iv) (i) (i) (i)
(€ (i) (@) (i) (iv)
(D) (iv) (i) (i) (i)

20. e (A) : TEE B T EETHS
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w@WE |

FRUT (R) : Ui weitgar S &
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(A) (A) 3R (R) I 3@ € |

(B) (A) ¥R (R) aHi ¥ & 3R (R),
(A) =l eI =R & & |

(C) (A) IR (R) aHi & & R (R),
(A) F TE ARTE |

(D) (A) 3R (R) 3HT 210 § 31X (R),
(A) =f Tel AT |

21, SFaEE® | SINGE a6 @H W W
T T gl §OORaed M &

e T el &

(A) TR (B) -RE®
(C) fsraamETs (D) \RAE
J-74-13

22.

23.

24,

SHTHERIST AgeTTaTi o fot AT T 3TshH

T

T gt Stufas

T TRkt tufas

W] FIHEH (TSR], ISR

TR 3R Feamon) i

4, FEWE AR I TEH H
Afgettatt & A Icdied o i
e = ST

T

(A) 1,3,2,4 (B) 1,

©) 2,341 (D) 3

AfgetreT & e i g9 {6 WhR THifed

HAT & ?

(i) T& 9m foursm, foewieR &)
TS % TRAISR o eehior ol
TR e & |

(i) € QAT 1 Gl o THH TG F
THATE |

(iii) T =t P Tk 3R aRuse= |
Tt € |

(iv) I Faen & T aer -t
ST | AEH BT ¢ |

wnN e

2,4,3
2,1, 4

3{!\’762

(A) (1), (i), (iii), (iv)
(B) & (i), (ii), (iii)
(C) fak (i) 3 (iv)
(D) fa (i) 3 (iii)

e (A) : AHINS TR T
TS WIS URed o Tt
I T € |

HRUT (R) : T 31X M=o STHBRT
@ gEEn) 3 fifqes dareEr 6
il T et JuoT 7@ e sd § |

T4

(A) (A) 3 (R) A1 I € 3 (R),
(A) Ft TE ARATE |

(B) (A) 3R (R) 34 ¥ & 3iX (R),
(A) = el =R & & |

(C) (A) 3R (R) I 3@ € |

(D) (A) T T 3R (R) 30T T |
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25.

26.

27.

28.

29.

The term ‘Clientelism’ denotes

(A) The transformation of
grassroots women as mere
beneficiaries of services.

(B) The transformation of women
as active participants.

(C) The transformation of women
as non-beneficiaries of services.

(D) The elimination of women
from the public world.

Match the List-1 and Il :

List—1 List— 11

(@) Human (i) November 25"
Rights Day

(b) White (i) December 1*
Ribbon Day

(c) HIV/AIDS  (iii) December 10"
Day

(d) Population  (iv) July 11"
Day

Codes :
@ () () (d

(A (i) () (i) (iv)

B i 0 ) v
© W @ o o

The recently introduced bill in the

Lok Sabha which intends to provide

for the gender specific needs of

women farmers is known as

(A) Women Farmers Bill 2012

(B) Women Entitlement Bill 2012

(C) Women Farmers Entitlement
Bill 2012

(D) Women Farmers Bill 2011

Among the following terms, which is not
closely associated with violence ?

(A) Battering (B) Adultery
(C) Harassment (D) Abuse

Assertion (A) : The emphasis on
educating women will bring
about widespread social changes
and population stabilization.

Reason (R) : Women’s education
plays a major role in changing
the fertility pattern throughout
the world.

(A) (A)is false and (R) is true.

(B) Both (A) and (R) are false.

(C) Both (A) and (R) are true and (R)
Is the correct explanation for (A).

(D) Both (A) and (R) are true, (R) is
not the correct explanation of (A).

Paper-I1

30.

31.

32.

33.

34.

Which of the following conferences
identified that “Women have a vital
role in Environment Management” ?
(A) Beijing conference

(B) Rio-de Janeiro conference

(C) Cairo-conference

(D) Mexico conference

Expand

‘DAWN’.

(A) Development Association with
Women for a New
Employment.

(B) Department of Alternatives
with Women for a New Era

(C) Development Alternatives with
Women for a New Era

(D) Development Association with
Women for a New Era

Match the items from List-1 and List-I1.

the correct acronym of

List—1 List—11
(@ HIV/AIDS (i) Red Blood
cells
(b) Anaemia (i) White Blood
cells

(c) Amniocentesis (iii) Contraceptive

(d) Depo- (iv) Sex Deter-
proveria mination test

Codes :
@ (0 © (@

A () @) (i) (iv)

B) () (i) (i) (iv)

(C) (i) (iv) (i) (i)

(D) (i) () (v) (i)

Among the following Women Chief
Ministers who is currently not
holding the position ?

(A) Mayavati

(B) Mamta Banerji

(C) Shiela Dixit

(D) Jayalalithaa

Among the following feminists who
have advocated that ‘Husband
represents the Bourgeois and wife
represents the Proletariat’.

(A) Karl Marx

(B) Clara Zetkin

(C) Margaret Benston

(D) Friedrich Engels
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26.

27.

28.

29.
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TE I1ex T AT el € 2
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2, T FEA & ?
(A) et e fadass, 2012
(B) et ehaT favee, 2012
(C) e haH eHheRY feEe, 2012
(D) Hfee femam fagaes, 2011
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T &7 9 Gt el & 2

(A) Tamd €9 ¥ ARl

(B) W&

(C) wsTE

(D) FH=eR

Ffe (A) : AfEeTST H oRT W AR
T I AP TSI GRed Sa
IR ST T FErdiehaoT 2 |
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(A) (A) AT AR (R) T & |

(B) (A) 3R (R) IHi s € |

(C) (A) aﬁ;éR)aﬁw%afr{(R)

(D) (A) 3R (R) S T € 3R (R), (A)
T |
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30.

31.

32.

33.

34.

fFrfefied 5 9 69 T § I8 T=ug
e T T “aTdeReT YeR H HiEeat
I TeaqoT e & 7 2

(A) ST T

(B) RA-fe s g

(C) =Rl THHeH

(D) Hferaeh! T

T (S TTHLTA.) F el TR T

(A) SHTHE THIGERH a5 AT ®R T
anuqawﬁz

(B) TeurHe 3t siiced-icad fog Jr
TR T

(C) ToHe feeticay a8 gaq ik
U=

(D) <HCITHE THINGRH fog gHT %R T
=0
Iaﬁﬂﬁaﬁﬁ

-1 =t - 1
(@) wmamEd/ (i) e
T HITERIT

(b) Y& 3TaT (i) o &
EINCalY

[ <6t BT o 4

ORELEIEEEER
(d) Tedisarar

(iii) ™ FReE
(iv) for Framror
TRieToT
FT

@ () (© @
(A) (1) (i) (i) (iv)
(B) (1) (i) (i) (iv)
(C) (i) (iv) (i) (i)
(D) (i) () (iv) (i)
frfefea afeen gerdtEt § § @H
FTSThel UE IT 3T 718 & 2
(A) T (B) THAT ST
(C) viemsifed (D) SHEferd

e ARErea ¥ ¥ e 39 a9
I W B & fF 9 gejen A
FA & AR TN S B Hfare
FA & ?

(A) FATR  (B) FART A
(C) T aweA (D) WheRe uhiew
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35.

36.

37.

38.

Match the list of Books (List-1) and
Authors (List-11)
List—1 List— 11
(Books) (Authors)
(@) Second Sex (i) Mary Daly

(b) Gyn/ (i) Juliet
Ecology Mitchell

(c) Sexual (iii) Simon De
Politics Beauvoir

(d) Women’s (iv) Kate Millet
Estate

Codes :

(@ (b) () (d)

(A) (iii) (iv) (i) (i)

(B) (iii) (i) (iv) (i)

(C) (iv) (i) (i) (iii)

(D) (1) (i) (i) (iv)

Assertion (A) : Sexual Harassment
(Prevention) cells have been
established in most of the
private and public sector
organisation.

Reason (R) : Working women are
subject to sexual harassment at
work place.

(A) (A)istrue and (R) is false.

(B) Both (A) and (R) are true and
(R) is the correct explanation
for (A).

(C) (A)is false and (R) is true.

(D) Both (A) and (R) are false.

Among the following, who is not a

post-modern feminist ?

(A) Juliet Mitchell

(B) Helene Cixaus

(C) Luce Irigaray

(D) Jacques Derrida

Assertion (A) : It is very difficult to
define the subject of Women’s
Studies.

Reason (R) : Feminist thoughts and
positions are diversified.

Codes :

(A) (A)iswrongand (R) is correct.

(B) Both (A) and (R) are wrong.

(C) (A) is correct, but (R) is wrong
and (R) is not the correct
explanation of (A).

(D) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).
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39.

40.

41.

42.

43.

Who is called an ‘iron lady’ in the
field of Indian sports ?

(A) P.T.Usha

(B) Karnam Malleswari

(C) Saina Nehwal

(D) Mary Com

Match the prominent women from
(List-1) and their position (List-11).

List—1 List— 11
(@) Margaret (i) Chairperson,
Alva National
Commission for
women
(b) Prema (if) Chairperson,
Cariayapa Central Social
Welfare Board
(c) Mamta (iii) Governor of
Sharma Uttarakhand
(d) Krishna  (iv) Minister for
Tirath Women and Child
Development
Codes :
?ﬁi b) (c) (
A) (i ) (i) (v
B) (i) (i) (i) (v
C) ( i) @) (iv
D) (u 11 I v
What are the dimension taken to

measure the Gender Inequality Index

(GIN?

(A) Reproductive Health, Labour
Market, Literacy and Knowledge.

(B) Employment, Gender wage
differentials and Empowerment.

(C) Labour market, Employment
and Political participation.

(D) Reproductive Health,
Empowerment and Labour market.

The concept of Socialization of

‘Domestic Labour’ was introduced by

(A) Margaret Benston

(B) Oakley

(C) Firestone

(D) Nancy Chodorow

Assertion (A) : Feminist perspectives
on environment challenge the

social, cultural and political
sources of power in society.
Reason (R) Sustainable

Development Challenge the
participation of men in pro-
ecological ways of living.

(A) Both (A) and (R) are true.

(B) (A) istrue, (R) is false.

(C) Both (A) and (R) are true, (R) is
the correct explanation for (A).

(D) Both (A) and (R) are false.
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35.

36.

37.

38.
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(a) TFvsdR (i) T oA

(b) ™= (i) Sfferae tHeet

(c) dRgEsT (i) 99H T &R
Rligices)

(d) TR

6T

(=N

(iv) ¥ freere

@ () ( (@
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(O) @@ (i) (i) (iv)
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(A) (A) T ¢ 3R (R) 3H & |

(B) (A) 3R (R) 3HT ¥ & 31X (R),
(A) =t & A= E |

(C) (A) T T AR (R) T E |

(D) (A) 3R (R) 3T 3@ € |

ffafad § 9 iF Sa-amgfe TRaR!
T E?

(A) Sffege feier (B) & fawg
(C) &I (D) g eREr

AtWHYA (A) : AfeeT 3TeaT & fowd
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Fe

(A) (A) Tord & 3T (R) Tel & |

(B) (A) 3R (R) I T & |
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(R), (A) 3 W&l =amen T ¢ |
(A) 3R (R) 34T T&t & 3R (R),
(A) =f &l AT |

(D)
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39.

40.

41.

42.

43.
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(A) W3 IW  (B) FHH Howet
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FETLH T i ?
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(C) wRREM (D) =t =Rt

arfieRe (A) WWWQ&Q&H
qOST H G, WRpas 31T
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A E |

HROT (R) : IEHIcAR [T, E-Te &
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44,

45.

Match the list of women’s Universities
(List-1) and Location (List-I1).

List—1 List— 11
(@) Mother Teresa (i) Rajasthan
Women’s
University
(b) Sri Padmavati (ii) Maharashtra
Women’s
University
(c) S.N.D.T. (ii1) Andhra
Women’s Pradesh
University
(d) Banasthali (iv) Tamil
Vidyapeeth Nadu
Codes :

@ @ (¢ (d
(A) (iv) (i) (i) (i)
(B) (iv) (i) (1) (i)

(C) (iv) (i) (i) (i)

(D) (i) () (iv) (i)

Mark out the correct answer about
Hypothesis :

(i) Hypothesis is a statement,
which is yet to be tested.

(i)  Hypothesis are all positive.

(iii) Hypothesis can be null.

(iv) The sources of hypotheses can
be the existing theories.

Codes :

(A) (), (iii) and (iv) only.

(B) (i), (ii), (iii) and (iv).

(C) (ii), (iii) and (iv) only.

(D) (i), (i) and (iii) only.

Read the following paragraph and

answer question numbers 46 to 50.

In proving women’s inferiority,
the anti-feminists began to draw not
only upon religion, philosophy, and
theology, as before, but also upon
science-biology, experimental
psychology, etc. At most they were
willing to grant ‘equality in
difference’ to the other sex. That
profitable ~ formula IS most
significant; it is precisely like the
‘equal but separate’ formula of the
Jim Crow laws aimed at the North
American Negroes. As is well

Paper-I1

12

known, this so-called equalitarian
segregation has resulted only in the
most extreme discrimination. The
similarity jut noted is in no way due
to chance, for whether it is a race, a
caste, a class, or a sex that is reduced
to a position of inferiority, the
methods of justification are the same.
The ‘eternal feminine’ corresponds to
‘the black soul’ and to ‘the Jewish
character’. True, the Jewish problem
is on the whole very different from
the other two-to the anti-Semite the
Jew is not so much an inferior as he
is an enemy for whom there is to be
granted no place on earth, for whom
annihilation is the fate desired. But
there are deep similarities between
the situation of women and that of
the Negro. Both are being
emancipated today from a like
paternalism, and the former master
class wishes to keep them in their
place’ — that is, the place chosen for
them. In both cases, the former
masters lavish more or less sincere
eulogies, either on the virtues of ‘the
good Negro’ with his dormant,
childish, merry soul — the submissive
Negro-or on the merits of the woman
who is ‘truly feminine’ - that is,
frivolous, infantile, irresponsible -
the submissive woman. In both cases,
the dominant class bases its argument
on a state of affairs that it has itself
created. As George Bernard Shaw
puts it, in substance, ‘The American
white relegates the black to the rank
of shoeshine boy; and he concludes
from this that the black is good for
nothing but shining shoes.” This
vicious circle is met with in all
analogous circumstances; when an
individual (or a group of individuals)
is kept in a situation of inferiority,
the fact is that he is inferior. But the
significance of the verb to be must be
rightly understood here; it is in bad
faith to give it a static value when it
really has the dynamic Hegelian
sense of ‘to have become. Yes,
women on the whole are today
inferior to men; that is, their situation
affords them fewer possibilities.
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46. Anti-feminists argued for women’s
inferiority on the basis of

(i)  Philosophy

(if) Caste

(iii) Biology

(iv) Experimental Psychology
Codes :

(A) (), (i), (iii), (iv)

(B) (i), (iii) and (iv) only

(C) (i), (iii) and (iv) only

(D) (iii) and (iv) only

47. Mark out the correct answer :

The formula of ‘equality in

difference’ is profitable for

(A) Emancipating all relegated to
the position of inferiority.

(B) Maintaining the status-quo or
even enhancing discrimination
against women.

(C) Solving the issues of Negroes
and Jews.

(D) Minimizing
against women.

discrimination

48. Assertion (A) ‘The eternal
feminine’ corresponds to ‘the
black soul’ and to ‘the Jewish
Character’.

Reason (R) There are deep
similarities among the situation
of the Jews, the situation of
woman and that of the Negro.

Codes :

(A) Both (A) and (R) are correct.

(B) (A) is correct, but (R) is wrong
and (R) is not the correct
explanation of (A).

(C) (A) is wrong and (R) is correct
and (R) is the correct
explanation of (A).

(D) Both (A) and (R) are wrong.

49,

50.
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How is the situation of woman and
that of the Negro is similar ?
(i)  Both are biologically inferior.

(i) Both have been liberated from
alike paternalism.

Both have been slave to their
their

(iii)
masters for
submissiveness.

(iv) Both are responsible for their
state of affairs.

Codes :

(A)  (ii), (iii) and (iv) only
(B) (i) and (iv) only
(C) (i), (i), (iii) and (iv)
(D) (ii) and (iii) only

Assertion (A) : Women on the whole
are today inferior to men and
their situation will continue.

Reason (R) : The vicious circle of
inferiority is static and not
dynamic.

Codes :

(A) (A) is correct and (R) is wrong.
(B) (A) iswrong and (R) is correct.
(C) Both (A) and (R) are wrong.

(D) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).
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46.

47.

48.
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(i) =i
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ETE

(A) (A) 3R (R) I T&t € |
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(D) (A) 3R (R) I T & |

49.

50.
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Tfgen 3T A # fafg 5w vR 9
TIA € ?
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(iii)

A B AT Fe % ol R
SRR T |

(iv)

%< .

(A) ¥ (i), (iii) 37 (iv)

(B) a (i) 3R (iv)

(©) (i), (i), (iii) 2R (iv)

(D) 3 (i) 39 (i)
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afeRa W |
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(D) (A) 3R (R) 3 Wl & 3R (R),
(A) & & FE=AE |
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